PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

9th August 2016, 09:00 AM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

Who administers the oath of office to the President of India? / P9 URd %wgqﬁrﬁuaaﬁ Y fearar %?
® The outgoing President / ﬁﬂ?&lﬂﬂgﬂﬁf
® The Prime Minister of India / YIRd & YLUTTHA
® Chief Justice of Supreme Court / g;fm PIE D qJ30 TATERT
® Speaker of the Lok Sabha /ﬁﬂ‘lﬂ ® &l

Correct Answer :-Chief Justice of Supreme Court / W P & GBI ATATEHT

2)
Question Stimulus :-

Tomb of Tansen is located in_____ ./ A8 & HHERI # fRE 31
Gwalior / TaTTIIR

Indore / E_Lﬁ?'

Ujjain / &I

® Morena/ '537“

Correct Answer :-Gwalior / TdTf¢IOR

3)
Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the

third word. / 9 9% &, Tgd &) Treal P g WP Fay ¥ o fowen) & & = wres g e ai
TS B Y I UPR BT YaY B

FOOT: INCH :: MILE ? / e : §d:: Hid :

e METER / Hie®

()



e LITER / Tex

* YARD /U®

* HOURS / 9w
Correct Answer :-YARD / 98
4)

Question Stimulus :-

The son of Shahji Bhonsle was /YI'I?Ttﬁ 'l-h'\q?f & E) )|
® Bajirao /aﬁﬂm
® BalajiVishwanath / STaTel fAYATY
® Shivaji / Rrarei
® Raja Man Singh / TSIT HIH ﬁlg
Correct Answer :-Shivaji / Ramwit
5)

Question Stimulus :-

Which state government launched “Chandranna Bima Yojana”, an insurance scheme for the working class people? /

5 Isu R A g T A, weigR o F @ P e v Sur g g 91 82
® Andhra Pradesh / S8 Q%SZT
e Uttar Pradesh / 3<% USRI

® Madhya Pradesh / & USRI

® Telangana / GG

Correct Answer :-Andhra Pradesh / 378 W=

6)
Question Stimulus :-

First woman president of the Indian National Congress was / HRA QT@'{T PR I U4H 'FI'%ET SIHET off
® Annie Beasant / Q:ﬁ e
® Sister Nivedita / Rrex ﬁaﬁ?ﬂ

©)



® Sarojini Naidu / RS g

® (Captain Lakshmi / %ET'I' Fl'&tﬁ
Correct Answer :-Annie Beasant / 1 98¢
7)

Question Stimulus :-

Which state borders Madhya Pradesh on its western side? / & USRI & ufyw | fore s &1 dwr @it §'§
8?2

® Gujarat / JoRRTd
® Chhatisgarh / UG

e Uttar Pradesh / Wu%ﬂ

® Maharastra / HERTY

Correct Answer :-Gujarat / ToIRTd

8)
Question Stimulus :-

If S+K means S is the sister of K,S-K means S is the father of K, S*K means S is the brother of K, what does
P*M-D means? / Ui S+K FT AL g fF S, KB gg73 T S-KFT AFZ o S, K 1 U1 8 W S*K 1
Jf B fF s, K1 T 3| P*M-D &1 am 3 82

® P is the nephew of D / P, D 1 Mol 8

® Pis brother of D / P, DW“-I'I%%

e Pis father of D / P, D ®1 fUaT &

® P js the uncle of D / P, Diﬂiﬂ?ﬂ%
Correct Answer :-P is the uncle of D / P, D T Tl g
9)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe gﬁq
it fau T ®yt vd At & aR # WEl Bl

Statements: / ®YH:

(4)



All juices are drinks / 94 50 99 §

Some drinks are beverages / $9 ﬂﬂ,ﬂ'qw%f %
Conclusions: / e

I. Some juices are beverages / I. 9 Wﬁﬂm‘ﬁf%

II. Some beverages are juices / I1I. $9 9 garf Skl g
® Only conclusion I follows / pad ey I fFreaar %
® Only conclusion II follows / Fad sy 11 fHwearn %
¢ Both conclusion I and II follows /aﬁ e 1 Gﬁ'{ II ﬁﬁ% %
* None of the conclusion I or II follows /ISP T AT IT A A ﬁé‘ :|—5°[ IGEZNGI %
Correct Answer :-None of the conclusion I or II follows / I d I a1 1T & ﬁ aﬁs‘ :Iﬁ Fredan %

10)
Question Stimulus :-

Who received the name ‘Abhay Sadhak’ from Gandhiji? / Tielislt 3 '1vg Iee 9 fFas! urw
garm?

® Baba Amte / STST 3THS

®* GK Gokhale / Std TH@et

® Morarji Desai / ARRSH aﬂl'sc
* DK Karve / S1% &d

Correct Answer :-Baba Amte / STdT 3THS

11)
Question Stimulus :-

Which of the following was set up by Government of India in 1976 to provide e-
Governance solutions in the Government sector? / FAuferfaa A @ 5 1976 A YR IHR gRI

WHT &7 A $-TTa= & AYT YgH B & forg i fvar mar ur?
® Department of Electronics and Information Technology / sﬁaﬁﬁw 3R AT wrenfret favmr
® National Informatics Centre / TI'@'!T AT o &=

® Ministry of Information Technology / =T W R} e

(5)



® Electronics Corporation of India Limited / sﬁaﬁﬁw PRUNTA 3T E'%TIT fufires
Correct Answer :-National Informatics Centre / TI'@T[ T o™ s

12)

Question Stimulus :-

In a five star hotel, 6 housekeeping staff of a hotel A, B, C, D, E, and F are setting up their
room cleaning schedule such that each of them cleans on only one day in a six days per
week schedule.

/

If F cleans on day 6, D cleans on day 4.

If A cleans on day 4, D cleans on day 6.

If A cleans on day 3, E does not clean on day 3

If A cleans on day 1, C cleans on day 6.

C does not clean on day 4, unless A cleans on day 1.
B cleans either on day 2 or on day 6.

If A cleans on day 1, F cleans on day 5. F does not clean on day 5 unless A cleans on
day 1.

If B cleans on day 2, E cleans on day 5.

TP BIgd R BIcd A, A, B, C, D, E, 3R F §lcd & 6 IWGIA[G LW YT HHI TP B BT STUHH 59
TPR IV Y P R ¢ b Ud® B8 39 Ul Twre $rimpd § bad TP gl 39 9 sear g |

gfe F e 6 TR A6 &ear g, df D fdT 4 W A% &ean g

<>ARTAWNAE FAOIe, AIDRT6 RAB A< >ART3IWAW Ha1 g, d E 9 3
WRIAG AR B <> AT 1 R ATGE Fa1g, A C e 6 WATE FA1® | < > RT 4 R I T8
BT, S db A e 1 W AP T8 Bdi< > faa 2 syar i 6 W Iw a1 8| < > A o7 1 w I
YAl 8, df F &9 5 W 1% &ar 8| F 9 5 i I =8} &edn, o9 9@ A ’9 1 W 91w 781 &) <
> B a9 2 WOTw FIar §, @t E fd9 5 R 916 F3a1 B

If B cleans on day 2, which of the following is a complete and accurate list of days F could

clean. / T B o9 2 R A% &=ar §, o 9 & @ 3 = &Y Tyof ik W) = #i9 ft @ o9 F 9w #=

b dl

gl

1,4
4,6

(6)



e 1,4,6
Correct Answer :-1,4,6

13)

Question Stimulus :-

EMLI, the full form of which is is a fixed payment amount made by a borrower to a lender at a specified date

each calendar month/é@m,m_wwa Gwéﬁaﬁ%mmaﬁaﬁnﬁﬁ@awﬁrém
YT U iR ffd oy are g g1

® Equated Monthly Installment / R fhwda

® Equal Monthly Installment / HH iR® e

® Equated Monitory Installment / IRTeR TSy fore
® Equal Monitory Installment / THTT yay® fed

Correct Answer :-Equated Monthly Installment / HTRI® fh&ia

14)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe
gfe, it ab @1 =} ¥ TR R e FyT & TuE @

The IV World War will be fought with sticks and stones. / IV fa¥ 9= Sfsdl Td Rl § @=T
SR

Civilization is going backwards. / F¥Idl 1 &t 3R o1 ?ﬁ %I

The weapon industry is slowing down. / m T I AT _a el %I

In the V World War, nuclear weapons will again be used. / V fay Y& 'ef, AfYSIT 3Rd aTSI'RT
SEAATA Il |

The IIT World War will end in a holocaust of the entire world. / TII fag Y& F‘qu fay & ad=m=r
H WA I

Correct Answer :-The III World War will end in a holocaust of the entire world. / III fa%y &

Tquf fay & == & quTST SR

15)

Question Stimulus :-

(7)



Name the tribe people who actively participated in the revolt of 18572 / Tferg U A 1857 & fagisg # UFT o @
S & ARI T AT

® The Bhils / &

® The Gonds / Tﬁg

® The Korku / PRE

® The Bhaiga / 97T
Correct Answer :-The Bhils / &

16)

Question Stimulus :-

Who is the Attorney General of India? / HRd & qsﬁurqaﬁr DI 32
® Ranjit Kumar / WW
® AP Shah/TUI=ME
® Mukul Rohatgi / P d gt
® L. Nageswara Rao / Udl. 7'|'|'?f%R' d
Correct Answer :-Mukul Rohatgi / G d Jgaiit
17)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawen
e, St ad a1 =} A 7R T e FY= & JuE 7

If Emily gives up her job, she is getting engaged or planning to do an MBA. / gfe Titret sru=it
TH3 TS it 8, o 98 AE-3g Ta-9es 8l I8! € a1 MBA $1 &7 T BT gl

® [If Emily is neither getting engaged nor planning to do an MBA, she does not glve up her job. / ?:Iﬁ
Qﬁl?ﬁ%f?ﬁﬁﬁ'l‘s’ -2 TUTEES € T8 @ A € MBA A BT T @ 2, A
f§-|$ ol 81

® If Emily does not give up her job, she is not getting engaged or she is not planning to do an MBA. /

afe Tftrelt sru-it At 181 Bisdl g, dl 98 faars-a8q duacs 8l 8l T8l § U1 98 MBA
P BT Tl 9" L B
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e If Emily is getting engaged or she is planning to do an MBA, she has not given up her job. / 'Cl'%

g&ﬁﬁﬁaﬁ-%gaaﬂwﬁ%&%magMBAmﬁwmﬁ%,a}wﬁﬁﬁﬂﬁ@@
|

e Jf Emily does not give up her job , she is not getting engaged and she is not planning to do an MBA

/ e Titrelt Srueit et ) Bigdl &, a1 a8 fdaTg-8g du-9cs el of 6! § 3NX 98 MBA
A BT T8l 94 Q) 2

Correct Answer :-If Emily is neither getting engaged nor planning to do an MBA, she does not give

up her job. / AfS TR 7 ot fIaE-3q To9c= ol I8 @ 7 & MBA TR &1 Q9 &1 8, O 98
¥t Tl Bredt Bl

18)
Question Stimulus :-

Maximum strength of Lok Sabha envisaged by Constitution of Indiais__. / AFIHT B
Aoy =fd YR & Wl gRT uRefREa 8, s eI

® 530

® 550

® 552

® 540
Correct Answer :-552
19)

Question Stimulus :-

Choose Fhe number which is different from others in the group. /39 JSIT G| i[ﬁ'a
ol g ® 919 9 3T 7|

* 35
°* 45
°* 49
® 65
Correct Answer :-49

20)

Question Stimulus :-

©)



The national animal of India is the / HIRd BT ?Tgm' I %
® Tiger /dTY
® Lion /ﬁ?
® Elephant/ ET?-ﬂ
® None of these / B:I'Ef I ﬁs‘?eﬁ

Correct Answer :-Tiger /919

21)
Question Stimulus :-

In one family, there are several children in which each girl has as many brothers as she has
sisters but each boy has sisters which are twice of brothers he has. Then how many

brothers and sisters are they? / T&% URaR #H, a@aﬁﬁ%ﬁﬂﬁmm%ﬁﬁ%%ﬁﬁﬁ%
ITB! T84 ¢ Al TP dSP P e U § ISP SRAT STB! 984 &1 < 98 [P Wig 3k 78 &2

e 4 Brothers, 3 Sisters / 4 'J-I'I".‘z:, 3 337-"
e 4 Sisters, 3 Brothers / 4 a‘s'ﬁ, 3 ‘-ITé'
® 4 Brothers, 4 Sisters / 4 'J-I'I's:, 4 aﬂﬁ
e Cannot say / '_'I'Eﬁ g Jbd
Correct Answer :-4 Sisters, 3 Brothers / 4 ‘«ﬁef, 3 'l-l'l'&F

22)
Question Stimulus :-

Who appoints the members of the Union Public Service Commission? / DI TY FIPH TaT TN & Te ﬁ'ﬂaﬁ'
&l 82

® President / TIETIﬁf

® Prime Minister / U T

® Chairman of UPSC / JUITHH & 3redel

® Chief Justice of Supreme Court / g;ﬁw Cark-g HET e

Correct Answer :-President / A¥Ud

23)

(10)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fdwe
g idd sl R AR R s F U :

If you pay the bill then I will send the TV otherwise I will send a watch. / gfe ﬂ'qﬁﬁ Cal
YA BRIl & TV A 181 @) & g8t WS

e If you do not pay the bill then I will not send the TV otherwise I will send a watch. / gfe dH fa@

ST YA T8 Bt at & Tv &Y A 3t & et g

* If you pay the bill then I will send the TV or a watch. / Tl TH & T YIa HIN ot & TV a1
Tel U

e IfI do not send the watch and send the TV then you must have paid the bill. / 'CI'% ﬁ ﬂ@’f - ‘ﬂT{[

3R TV A5f d A S BT YA w faar gl

e IfIsend the watch and do not send the TV then you must have paid the bill. / af¢ & TS}t A5f 3R

TV 7 95 d A fSd &1 Y= &R fear ghm|

Correct Answer :-If I do not send the watch and send the TV then you must have paid the bill. /

gfe # g3t 9 W 3R TV U5 < gu f9a &1 YA = fear gl

24)

Question Stimulus :-

CBSE has launched ‘Udaan’ scheme to provide a platform to deserving girl students who aspire to pursue higher

education in . / TNTIS A 37 ARG BEATSH 61 I UM H31 & T SSH' ASHIIRE S8, ol A sH
fRreim uTw ®A P AT HRA B

® Engineering / Eﬁﬂﬁ'{lﬁﬂ
* Medicine / fRIfeem
® Law /1

® Finance / fad

Correct Answer :-Engineering / SO

25)
Question Stimulus :-

Where was the first mosque built in India? / HRd i | ﬂ'cl'\a' Tgdl 'FI'%IT.‘; WTEFﬁ R 1
* Delhi/ fawt
® Aligarh/ 3CANTG

(11)



® Allahabad/ 3dleldig

® Kodungaloor/ ﬁw

Correct Answer :-Kodungaloor/ HIG-TeAR

26)
Question Stimulus :-

Six students are sitting in a row. K is sitting between V and R. V is sitting next to M. M is sitting next to B is
sitting next to R. who are sitting on either side of V? / ©: B Th ufe # 9% 8¢ %l K, VUG R & 0 o1
2|V, M B UK S3T 8| M, B P UTH T4 B, R & UTH 9371 | V & g1 3R B9 96 82

®* RandQ /RTIQ
® BandM/BTUTIM
* MandK / M Td K
® KandR / KTd R
Correct Answer :-M and K / M Td K

27)

Question Stimulus :-

p + q means p is the son of q; / p+qao‘rél2f%ﬁ? P, qmgsr%

p - q means p is the wifeof q; / p-q ®T13d g & p, q P Ul &

P *~ q means p is the brother of q; / pxqa?r&r?f%ﬁ? P, qﬁr'l-l'lﬁ%
P . q means p is the motherof q; / p.q PT13f & F p, q FI AT

p = g means p is the sister of q. / p=q ®T3Ad 8 fF p, q PI T8 ®

What does P = R + Q mean? / P = R + Q &1 &1 34 82
° Pistheuncleon/P,QEFfilﬁlT%
° Pisthedaughteron/P,QaﬂH_ff%
* Pis the nephew of Q / P, Q T HISlT &

° Pisthesisteron/P,QaﬁW%

(12)



Correct Answer :-P is the daughter of Q /P, Q 3| H‘aﬁ %

28)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg oo ﬂﬁt{
Sl 3T T Hy=Y vd el & 9N § 9 2

Statements: / $YA:
No crickets are stones. / IS fhdbc URR T8I &1

Some stones are bags. / P9 TRR o1 %’I

Conclusions: / fAwsd:
I. Some bags are crickets. / I. $© a7 fhdre 1
II. Some bags are not crickets. / II. $& 97 ke T8 &1

® Only conclusion I follows / pad ey 1 e %

® Only conclusion II follows / W ﬁmwf 1I ﬁWﬁT %

e Both conclusion I and II follows /Ea"_'ﬁ e 1 Gﬁ? II ﬁm %

* None of the conclusion I or II follows / TS I WM II H A I3 & FApaar g
Correct Answer :-Only conclusion II follows / ad f=rspd 11 fAradr %
29)

Question Stimulus :-

If A+B means A is the daughter of B, A/ B means A is the husband of B & A*B means A is
the brother of B, what does P/Q+R*S means? / Uf¢ A+B ®#T3f 3 f& A, B I 8 td A/B &1

JfEfF A BHTU R Ud A*B BT A 8 75 A, B T UE 8] P/Q+R*s &1 T arf &2

R is the father of P / R, P 1 fUaT 8

R is the brother in law of P / R, P T HTdl %

® Ristheuncleof P / R, P & T &
* R is the father in law of P / R, P &T TR @

Correct Answer :-R is the father in law of P / R, P BT TR &

(13)



30)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg CEaR gﬁu
it feT Y HyFT wd fFreput & 9 & w6t

Statements: / ®YH:
Some rollers are horses. / 9 ERE ‘Eﬁ% %’I

All boats are horses. / T 79 912 2|

Conclusions: / fAwpd:
I. Some boats are not rollers. / I. $& 719 9@ 78l 8

II. Some rollers are boats. / II. $9 ERERGIC =I'eﬂ%I

® Only conclusion I follows / pad ey I fFreaar %

® Only conclusion II follows  Fad ey i1 fRpaar %

e Both conclusion I and II follows / &Il fpY I 3R 11 FRped %

e None of the conclusion I or ITI follows /ﬁ'ﬁaﬂf IGTIIH A aﬁé :I_GDI IGEANGI %
Correct Answer :-None of the conclusion I or II follows / FIspd I T II H A ﬁs‘ qﬁ Fredan %
31)

Question Stimulus :-

Pointing to a boy Sheeba said, "He is the son of my mother-in-law's only child". How is the

boy related to Sheeba? / TH TSP HI 3R IRT HRd T M1 A g, "8 A N & gHald g BT
a1 27| dShT, TMar A S Faftd 82

®* Son / ST
® Grandson / CIGI
* Nephew / Ydlall

e Brother / YT

Correct Answer :-Son / 921

32)

Question Stimulus :-

(14)



CANCELLED
River Kali Sindh originates in the district_. / el Rigr 7t e & & Fraperat 21

® Morena / H?Fﬂ
e Vidisha / fafé=m
® Gwalior / TR

e Indore/ SR

Correct Answer :-Vidisha / fafe=n

33)
Question Stimulus :-

Capital of which state means ‘fort of bricks’? / 5 I o1 ISt &1 S % 'ﬁﬁmﬁm'?
® Assam / 3[9H
® Chattisgarh / BUARNTG
* Arunachal Pradesh / 3TSUITIA WX

® Jharkhand / IRTS

Correct Answer :-Arunachal Pradesh / 330l 'Fla'QT

34)
Question Stimulus :-

If P+Q means P is the daughter of Q%& Q+R means Q is the brother of R, how is P related to
R? /a4 P+Q ®#T3f B fF P, Q ¥ Tt B 0 Q+R FT 3 8 f Q, R &1 utS B, P, R ¥ frw ke wwafta
2?2

° PisthenieceofR/P,Rﬁ‘l-R'ﬁFﬁ%
° PistheauntofR/P,Rﬂ"ﬁﬂFﬁ%

® Pis the daughter of R / P, Rﬁgﬂ’f%
° PisthemotherofR/P,RﬁﬁﬂTdT%

Correct Answer :-P is the niece of R / P, R @1 Helsil %

35)

(15)



Question Stimulus :-

If A+B means A is the daughter of B, A/B means A is the husband of B and A*B means A is the brother of B,
what does P*Q+R/S means? / TG A+B FT A S fF A, BHI T e vdA/BoT3d e fr A Borufa @

Td A*B &1 Ad g 5 A, B &1 HIE B P*Q+R/S &1 T 31 22
° SisthemotherofP/S,Pﬂ%II'lTﬂ%
° Sisthemother—in—law/S,Pifﬁi"-l'm%
® Sis the daughter of P / S, P | HEFI %
] SisthenieceofP/S,Pﬁ'J-l?ﬂTrﬁ%
Correct Answer :-S is the mother of P / S, P &I HIdT &

36)

Question Stimulus :-

Looking at a portrait of a man, Harish said, “"His mother is the wife of my father’s son.
Brothers and sisters I have none.” At whose portrait was Harish looking? / T® 3ficHl & fRi7

I 3@ §Y, TIA A Hgl, “SHD! AT W AT & 3¢ B Ul g1 IR DIg WIS A1 954 81 817 TN fasds fo
P ¢ 37T YT?
* His son / 3[04 a¢
* His uncle / 307 3&d
 His cousin / 309 TA¥ HT§
* His nephew / 30 Yool
Correct Answer :-His son / 304 §¢
37)
Question Stimulus :-

The Supreme Court of India was set up - / HRd tg '\ﬂ'ﬁﬂﬂﬁ DT TS gl YUT-

Through an Act of Parliament in 1950 / 1950 T T¥e Siffom & areaa |

Under the Indian Independence Act, 1935/ YR Sasdm &ﬁﬁ'ﬂq, 1935 & 3ild

Under the Government of India Act, 1935 / HRd AP R Glﬁlﬁ'qtf, 1935 & 3ield

By the Constitution of India / YR AU gRI

(16)



Correct Answer :-By the Constitution of India / YRHIRI AAYUTT GRT

38)
Question Stimulus :-

If its cookie or coffee then you get mileage. You get mileage then it was coffee. / 3R

4% fvpe 91 1B & 1 MU A5 UK Sl B MU ATl ¥l ¢ a9 98 Siwl Al
* True / 93!
* False / Tad
e Maybe / 8 THdT §
* Irrelevant / 3RS
Correct Answer :-Maybe / 8 9&dl ¢
39)

Question Stimulus :-

In which river basin is the Banjar River Project located? / aﬁwﬂ Tﬁﬁ g1 IR §6IR Ti_cﬁ gAYt G %?
® Ganga/ T
® Chambal / Tdd

* Narmada / -THgl
e Yamuna / 9yl

Correct Answer :-Narmada / THal

40)
Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face

opposite to the face shown at the right? / ﬁﬂﬁwwﬁﬁwﬁmmﬁ%ﬁmtﬁc—g
o wimar B, o A el # @ o9 S Riew § wae orlf ok e 1 waw & faurdia 82

(17)



Correct Answer :-

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Fill up the blank: 32 out of 160 listeners of FM radio are above 40 years of age. The percentage of such people

is_/ frod wE &1 Wi: Thud IS P 160 Aarei § T 32 441 40 W HW B Y F €] 59 AN B
g R

e 32

e 20

e 25

e 80
Correct Answer :-20
2)

Question Stimulus :-

In a certain code language 'Throw the ball’ is written as ' beton feksa sopy’ and ‘Ball is
heavy’ is written as ' deven sopy bata’ . In that code language the word for 'Ball’ is: /
<t W BIs WY H, 'Throw the ball’ &1 * beton feksa sopy’ 3R ‘Ball is heavy’ &1 ' deven
sopy bata’ ¥ feran %l I HIs YT H 'Ball’ & ﬁl‘E o %:

® sopy
® feksa
® bata
® deven

Correct Answer :-sopy

(18)



3)
Question Stimulus :-

If FAT is coded as HCV, how is MEAT coded? / af¢ FAT &1 HCV ¥ Pifed f5aT ST 8, df MEAT 91 $3
Pifed foar wrar 22

e OFBV

* NGBV

® OFCU

®* OGCV
Correct Answer :-OGCV
4)

Question Stimulus :-

In the following question, one term in the number series is wrong. Find out the wrong
term. / A9 Uy ¥, G@=I 4@ # TP US A §| Tad Ue ¥ BivA| 2,6,12,20,30,40

e 30

e 40

e 6

e 12
Correct Answer :-40
5)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁﬁlﬁ ST gAY ST Bl T ﬁ'ﬁ]’({ )

2,4,7,11,16,
18
e 20
e 22

e 25

(19)



Correct Answer :-22

6)
Question Stimulus :-

Find A and B, if 2A + 3B = 21, A-B=3 / A 3iR B JTd ®If%g, afe 2A + 3B = 21, A-B=3
° 6,3
e 3,6
* 9,6
e 12,9
Correct Answer :-6,3
7)

Question Stimulus :-
In an alloy the ratio of copper and zinc is 9:7. If the weight of copper in the alloy is 11.7 kg, what is the
weight of zinc in the alloy? / TH g &, SR R ST BT U 9:7 3| Al MyTg F SR &7 991 11.7
e g, o frerg o T &1 a7 YR 87

e 14.8 kg / 14.8 fFaumH

* 9.1kg/9.1 frarum

e 17.5kg / 17.5 fHaum

e 11.4 kg / 11.4 fharm™
Correct Answer :-9.1 kg /9.1 foaum
8)

Question Stimulus :-

(1246 —746) x 40 = ?
e 2000
e 20000
° 40000

* 4000

(20)



Correct Answer :-20000

9)
Question Stimulus :-

;g;he sequence shown below, which figure comes next? / I e T w0 & SrTelt enepfa
@ gtz

CIC [ DD
®)

N

o7

D

R

Correct Answer :-

10)
Question Stimulus :-

If DARK is coded as EBSZ, how is LIGHT coded? / af¢ DARK & EBSZ ¥ Pifsd fopar oimar g, O
LIGHT &1 &9 ®ifsd far Srar 82

¢ MHKLO

(21)



e MCFOQ
e MHIKL
e MJHIU

Correct Answer :-MJHIU

11)
Question Stimulus :-
Complete the series choosing the missing letter/s: / ﬁﬂ'ﬁf 3[&R JADBY Y@dl G| R PIforT :
i_hhg _igh_gi_gh_gi
® ghihi
e gihih
* hghii
® higih
Correct Answer :-gihih
12)

Question Stimulus :-

The multiple of 625 nearest to 904375977 is: / 904375977 B fAHeay BT St 625 T UM &:
® 904375625
°* 904376250
®* 904376625
* 904375750

Correct Answer :-904376250

13)
Question Stimulus :-

One of the items named in the words whose mirror images are given below is different
from the other three. Which one? / d fdwam w¢ guur yfafds & 4 forsdt v avg &1 710 o= <
A | fie g1 98 3 g2

(22)



Sl
WIAGH
ST
SV
2V

Correct Answer :-

14)
Question Stimulus :-

28 is 7% of a number. How much would be 32% of that number? / T IS BT 7%, 28 %| I =T T 32%

w1 g2

* 53

e 8

® 128

® 9
Correct Answer :-128
15)

Question Stimulus :-

30% of A’s salary is equal to 12% of B’s salary which is Rs. 24,000. What is A’s salary? / A & dd+1 T 30%, B &

AT F 12% P U & S P 24,000 T 8 A T Id- HT 87
* Rs. 18,000
* Rs. 21,600

® Rs. 10,000
(23)



® Rs. 9,600
Correct Answer :-Rs. 9,600
16)
Question Stimulus :-

55% of is 385. / BT 55% & 385]
° 525
e 285
e 700
e 315

Correct Answer :-700

17)
Question Stimulus :-

The link to the article on bank interest is found at / 3 U R 99 s i = urar Srar %:
http:///www.rbi.org.in./home/14764598740043275489.875.url

Compare it with the following and identify which of them has exactly one mistake. / oy m GGEL

P Td UgaH B3 fop 390 9 f5ad 4 v et @)

® http://www.rbi.org.in./home/14764598740043275489.875.url

® http://www.rib.org.in./home/14764598140043275489.875.url

® htlp://www.rbi.org.in./hone/14764598748043275489.875.uil

® http:///wmw.rbi.org.in./home/14764598740043275489.875.url

Correct Answer :-http://www.rbi.org.in./home/14764598740043275489.875.url

18)
Question Stimulus :-

In the sequence shown below, which figure comes next? / R fewm 1 w9 § SrTet C*H'@ﬁ
HI A gRi?

(24)



k 4
Y

Correct Answer :-

19)
Question Stimulus :-

If 25 salesmen earn Rs. 1000 in 10 days, how much will 15 salesmen earn in 15 days? / af¢ 25 GhTHGR
10 f&AT & = 1000 FUE &, @ 15 - & 15 gHFER fFaaT FARA?

e Rs. 750
* Rs. 820
® Rs.900

® Rs.930

(25)



Correct Answer :-Rs. 900

20)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁ?_[ﬁ ST AP gl 3 T DI =

15,13,11,9,7,

Correct Answer :-5

21)
Question Stimulus :-

Raman sells his old bicycle at Rs. 1280 and loses 20%. At what price did he buy the bicycle? / I 3[U=it
R A5fra 1280 © H 39dT § 3R 20% Wil 8| SO+ Iisfebd & fbaw g ¥ @len

* Rs.1600
®* Rs.1650
® Rs.1760
* Rs.1900

Correct Answer :-Rs.1600

22)

Question Stimulus :-

In a certain code language ‘Trains were late’ is written as ' Rakas som frok’ and ‘Don’t
be late’ is written as ' Bin’k drom som’. In that code language the word for 'late’ is: /

frdl @ SIS v fr', 'Trains were late’ &\ ' Rakas som frok’ 3R ‘Don‘t be late’ &\ * Bin’k
drom som’ ¥ for@r 8| St ®ie YW & 'ate’ & T s B:

® frok
® rakas

® drom

(26)



® som
Correct Answer :-som
23)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁ?:],’l'ﬂ 3I&R TAD YEaT ﬁq:ﬂaﬂﬁrm :

ZZyy _ XX _ZZ _YXXXX _Z
® XXyz
® yXx7Xx
® yxyx
® X7zyX
Correct Answer :-xxyz
24)

Question Stimulus :-

Tilak has spent Rs. 234 on buying books and Rs.162 on stationery out of the Rs. 642 he had at the
beginning of the day. How much money did he spend on food if he had Rs. 100 left at the end of the day?

®* Rs.116
® Rs.146
® Rs.164
* Rs.200

Correct Answer :-Rs.146

25)
Question Stimulus :-

40% of 660 is ./ 660®T40% 8 |
* 200

* 140

(27)



e 224

® 264
Correct Answer :-264
26)

Question Stimulus :-
In a certain code ‘Accept my offer’ is written as ' septa fok cofon’; ‘Pay my bill’ is
written as ' doka fok toda’ and ' Pay by ca;h’ is written as 'zoda toda foda’ . In that
code the word for 'bill” is: / &t WM FIe H, 'Accept my offer’ &1 * septa fok cofon’ ¥ foran @
; '"Pay my bill’ &Y * doka fok toda’ ¥ foRa1 8 3R * Pay by cash’ &1 'zoda toda foda’ ¥ firar g|
SH BIe & “bill’ F T W :

® septa

® fok

® foda

® doka
Correct Answer :-doka
27)
Question Stimulus :-

If HEAT is coded as JGCV, how is MILD coded? / af¢ HEAT & JGCV | HIfed fHar sirar €, @
MILD &I &9 Hifed fear ST 82

e OJMF
* OKNF
* OLOG
* OKOG

Correct Answer :-OKNF

28)
Question Stimulus :-

The ratio of income to the saving of Rahul is 11:2. What is the expenditure if the saving is Rs. 760? / IIgcl
DI HATS A Td BT U 11:2 T] AfS TUd 760 + ¢, < Tl w7182

(28)



® Rs. 1470
® Rs. 3420
® Rs. 2450
® Rs. 6840

Correct Answer :-Rs. 3420

29)

Question Stimulus :-

My ATM card number is: 4686441015002583. Check which of the following is the same as the ATM card number:
/ A ATM BTS DI TBT 4686441015002583 B ST B3 o6 g # T &I ATM TS BT & GHH |

® 4668441015002583
® 4686441105002583
® 4686441405002853
® 4686441015002583

Correct Answer :-4686441015002583

30)
Question Stimulus :-

Amit a furniture seller plans to sell a table for Rs. 720. If he gains 20% what is the cost price of the table?
/ 3T T WHRR faghar T A% 1 720 = # 994 B AoHT 9961 § Al 98 20% TTH UTCT 3, df A PI

G B IAd T 82
* Rs.600
* Rs.720
* Rs.575
®* Rs.850

Correct Answer :-Rs.600

Topic:- Science and Simple Arithmetic

1)

Question Stimulus :-

(29)



If A, B and C are the interior angles of a triangle, then cot A = / ae A, B 3R
C T% PP & 3ia: ST e, df cot A =

tan(B + C/2)

° mn{QD—A,&]
o cot{B+C/2)
° I:di{gﬂ—.djﬂ.]

Correct Answer :-0{3+C/2)

2)
Question Stimulus :-

A solid cylinder has a total surface area of 231 m2. If its curved-surface area is two-third
of the total surface area, the volume of the cylinder is ./ TF B 99T FT Dol

%gaawzmiﬂazéluﬁmw-qmaﬁm,wmmmﬁ-ﬁ?é%&hammm
|

* 269.5m3

* 385m3

* 308m3

* 363.4m3
Correct Answer :-269.5 m>
3)

Question Stimulus :-

Study the graph below and answer the question. (Consider approximate values for answers) /:ﬂ% ﬁ.’q T UTH BT

YT B 3R Ul BT I ¢1 IR & fore srgafaa ge R famR &9

(30)



120

100 4
20
8 a4 [ a0 -
= OMomnal
= &0 :
= Olndsrwaight
E 40 4 0 B0
&0 50
20 4
o 1
A B C O
Flaces

Which of the following places has least normal weight ladies? / g # fo wm= § 9re= aei= 3 'FI'%FH'Q
o B §2

Correct Answer :-D

4)
Question Stimulus :-

A steel spoon is placed inside a glass when boiling water is being poured into it so that / SId Udh i o
T Ui STAT 91T € oY S9P 3 UP STTd & IWd 39 od § Ford

® the spoon absorbs heat & prevent the glass from breaking / I &HTHT P raenfya & s &1
g I AP

* the spoon contracts & prevent the glass from breaking / I IHfId gIdH= FIA &I ged
AP

® the spoon expands & contracts / JHd '\‘l?ﬁ?l 3R g E“f
® the spoon keeps the temperature steady / I dTUHTA & fRR CE LY EEC]

Correct Answer :-the spoon absorbs heat & prevent the glass from breaking / W< &HEHI G|

JTMTIT R Fa o1 geq I AP |

5)

Question Stimulus :-

(31)



3 125 3 125
What is the value of 140%? / 1096 o7 7 9 272

5
Correct Answer :-16

6)
Question Stimulus :-
CANCELLED

What is the value of k for which the equation will have one root equal to
zero? / k &1 9 o o Gl &1 td @ I & aRI6% g2

o k=-2
e k=1

e ki=-1
e k=-3

Correct Answer :-k=-3

7)
Question Stimulus :-

Study the graph below and answer the question. (Consider approximate values for answers) /=ﬂ% ﬁt{ T TH BT

3T Y 3R Ul BT IR 1 IR & e srgurfa geul wR foam &9

(32)



120

100 4
20
8 a4 [ a0 -
= OMomnal
= &0 ;
= Olndsrwaight
E 40 4 70 B0
&0 50
20 4
o 1
A B C O

Places

Which of the following places has 30% of normal weight ladies out of Total number of ladies? /ﬁl‘H # A foT ==l

# wfgarsi @ va T # A 30 Ufa=a M a9 o Afgene g2

®* B

D
° A
Correct Answer :-A
8)
Question Stimulus :-

A girl of height 90 cm is walking away from the base of a lamp post at a speed
of 1.2 m/second. If the lamp is 3.6 m above the ground, find the length of her
shadow after 4 seconds. / T% 90 I} IS &I TSH! TH dW GRS & MYR T 1.2 /AP0 &
aﬁﬂgﬁgm%&%l e W VA ¥ 3.6 Hex T TR R 8, @ 4 APUS & 915 STD! WSS DI TR

|

® 1.6m

® 32m

® 09m

® 4m
Correct Answer :-1.6 m
9)

Question Stimulus :-

In a collision between a heavier object & a lighter object ,the body that experiences greater force is / Yt

9] 3R TP a¥g P dg capx W 98 a%g ot 4fUF Ia@ BT 3gya Haft §

(33)



® Lighter body /Fﬁ% a3

* Heavier body / HT<Y a3

* Both experience same force / GIFll THT T BT SIJHd Cal|

® Neither of them experience any force /BT-l'l?f I Tﬁ'&; I} forelt s@ &1 3JHd T-|'ea‘i'T il
Correct Answer :-Both experience same force / G-Il THT T BT AFHT BT
10)

Question Stimulus :-

Iodine is required in man for the production of / g'\mrﬁ' IEEH A d 9
& ST & Y srmaza® §

® Insulin / S=gfeI

e Adrenaline / Tf$Afer

® Thyroxine / UTARITRI

 Pyridoxine / fuRsifea=
Correct Answer :-Thyroxine / YTIRITRIA
11)

Question Stimulus :-

Study the graph below and answer the question. (Consider approximate values for answers) /ﬁﬁf ﬁ:q T YT BT

ST B 3R Ul BT I &1 R & fore srgafaa gen o famR #9

120 1
100 -
20
£ 8o |0 40
= ED
A Olomnal
= &0 4
o Olndsrwaight
E 40 4 70 B
0 50
20
o
A B C u}
Places

Which of the following places has equal number of underweight and normal ladies? / g d 9 fea I A 3T goiF
SR A= Afgensi @ e 99 82

* A
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D
® None of the above/m 7 aﬁ‘s‘ qﬁ
Correct Answer :-C

12)

Question Stimulus :-

What is 20 degrees in radians? /m H 20 &3 <=0 EﬁTIT?
* 0.17 rad / XFSTA
* 0.68rad /ST
® 0.34rad/ Bl
* 0.42rad /3f&TT

Correct Answer :-0.34 rad / IS

13)
Question Stimulus :-

Which among the parts given below is NOT a part of the Pistil / +H fow Ty A PIT IqI
BT BT YN 8 2

* Filament / dq

e Style / dfd®r

* Stigma / afddTd

e Ovary / 3SRM
Correct Answer :-Filament / g
14)

Question Stimulus :-

The product of two 2-digit numbers is 2028 and their HCF is13. The numbers
gre . / < 2-3i% &} YBT3} BT TUHEE 2028 & 3R 35T HCF 13 Bl TBIY
' |

® 26,78

(35)



e 39,52

® 13,156

® 36,68
Correct Answer :-39,52
15)

Question Stimulus :-

The process of removal of metabolic waste from the body is known as /TR T SUTT=T Srufry

foreT &t wfehan &Y ST o @
e Egestion / TTg&TUT
* Excretion / ScHI
* Exhalation / FT%T
e Perspiration / TG

Correct Answer :-Excretion / Scdoi-

16)
Question Stimulus :-

Which of the following functions is NOT affected in the absence of golgi apparatus in cells? / PIfRwT3N A

Tiest! IUHRUT Bt Uil A 7 & A o9 1 ot wurfaa 78 aar 82
® Secretion of the cell / BIRI®BT BT HTT
® Cell wall formation / BRI fUfRT &1 fomfor
* Formation of lysomes / TI®TY PT fmfor
® Synthesis of proteins / TNAI T TZAYOT

Correct Answer :-Synthesis of proteins / WA BT AT

17)
Question Stimulus :-

Study the graph below and answer the question. (Consider approximate values for answers) / EiE| ﬁ'&[ T UTH BT

ST Y SR Ul BT IW 31 IWI & fw srgari~a gea = fomr &3¢
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120

OMomnsl

Olndsrwaight

100 4
20
W 20
& 80 A 40 :
-g 50
= B0
a
2 40 A 70 B0
&0 50
20 A
D T
A B C n]

Places

Which of the following places has least underweight ladies? / g A @ 5 wIEl A 3req aoi 1 91 'FI'%?ITE LR

PH &

® None of the above/ SWRIed A aﬁ's‘ T'I'&ﬁ

Correct Answer :-C

18)

Question Stimulus :-

If the radius of a sphere is doubled, then its surface area is increased by

W, df SUST YY &% d 3d4 | 9¢ SR |

® 50%

® 100%

® 200%

® 300%

Correct Answer :-300%

19)

Question Stimulus :-

./ Tf T ) e AR e @

AB is a fixed line segment. State the locus of the point P such that £ZAPB = 90°
/ AB T® fua Y1 ds g1 fig P &1 fawia aaisd SR i £APB = 90°

® Aline segment perpendicular to AB / AB ¥ dgad T I TS

(37)



® Line segment AB itself / a4 Y@l GS AB
® Acircle with AB itself / T& Jd ¥4 AB & Ty
® A semicircle above AB / AB P IR Th G{QIQT'I'

Correct Answer :-A circle with AB itself / T% gd 09 AB & TTY

20)
Question Stimulus :-

The best time for removal of weeds is / TRUGIR B g1 $T Ja9 4T 9T &
® Before they produce flowers and seeds / STF GIRT qu 3R e IuF A | g
e At the time of tilling / ST & JHI
® At the time of sowing seeds /W @ 91 $ IHT
® Before harvesting / TP @I ng 3 tl?ﬁ
Correct Answer :-Before they produce flowers and seeds / 3HF GIRT qJuI 3R A Iud =1 | ugd

21)

Question Stimulus :-

Uric acid is the chief excretory product in / # g1 Ieil 3T gie 3 g 7l
* Lizard / fSumett
» Frog / dWe®
e Fishes / wsfuai
e Man / 9M49
Correct Answer :-Lizard / f&u®al
22)
Question Stimulus :-

A and B start driving from O at different speeds. Their time-distance graphs are
plotted below, the X axis showing the time and the Y axis sowing the distance
covered. / A TG B, 0 ¥ g 7Ifd & 9181 T Y= Hd §| STH THI-g3! UTE &I 1 rafad T
8, X 3M& Y TH Y &l 99 BT T & FH g=far 3|
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Distance L

1 2 3 L 3 6 Time

Which of the following statements are correct? / ?FH?[ I -9 A $YT 94 82

1. A maintained uniform speed throughout the journey. / A E] @ YT & ERE TH UM T
TR |

2. B’s drive was interrupted for about an hour and a half. / B & 9169 ®31d ¢ °c¢ & forg I

G

3. A’s speed was never 0, but is acceleration throughout the race was 0. / A &1 7fad &4t ot 0
T2 o, TR T8 ¥ & SR @ROT 0 7|

4. B’s speed was 0 at some stage in the race but his acceleration was never 0. / P ?R'Fr B

P 7 $© TOT § 0 N, g T ITHT w1 Hi ot 0 7T A1
* 1,283
® 1&2
* 1,284
* 1,2,384
Correct Answer :-1,2&3
23)

Question Stimulus :-

A virtual, erect & equal sized image is formed by a / Th GIT'J-I'I?ﬁ, i 3R U SMPR BT
yferfea & g fafifa g 21

® Concave mirror / 3fddd anUT
® Convex mirror / 3Td ElfU[
® Plane mirror / JHTA GUUT

® Both concave & convex mirror/?aﬁ Sddd Gﬁ? 3Id E'Cfl'ﬂ

(39)



Correct Answer :-Plane mirror / JHdd gUuT

24)
Question Stimulus :-

The human eye lens focuses image of the objects at various positions by the

action of / WF4 A7 W a¥gaii B1 B B F o gr1 Al Rl @ S sar gl
* Iris / uf¥arieT
e Pupil / gl
* Retina /ERUcd
* Ciliary muscles / U&ATIH! Uit

Correct Answer :-Ciliary muscles / G&ATIH®T U=H

25)
Question Stimulus :-

The HCF and LCM of two numbers are 50 and 250, respectively. If the first number is divided by 2, the quotient is 50.

Find the second number. / ﬂﬁ'@Txﬁ% HCF 3 Lcv ShHRT: 50 3R 250 %I ’Clﬁ tl%?‘ﬁﬂ'@Tﬁ 2 9 fawrfoe
®Y, A YNTHd 50 BT 81 gudl Ten e |

® 50

® 100
® 125
* 250

Correct Answer :-125

26)

Question Stimulus :-

Cloudy nights are warmer than clear nights because /H’I’q‘?ﬁ qrelt I "B Il P C’rl'ef&ﬂ 3fYe T 'eﬁ'cﬁ %
Ffe

® Clouds become warmer due to conduction / TdA & BRI dTgd 3rfie T E?f iG] %'I
® Clouds become warmer due to radiation /WUT & PRI drqd 3 T 'sbf rd %'I
* Cloud acts as an insulator / ST¢d SR B Hifd H1T Hd T

(40)



® Cloud allows heat to pass through / dTgel SHTHT CARVIEG| 'zﬁer a?f %'I
Correct Answer :-Cloud acts as an insulator / 9T¢d SRS F vifa &rd sa %'I
27)
Question Stimulus :-

Modern Submarines are designed long, cylindrical & rounded ends. The rounded ends help in ensuring that /
nyfe it ddl, STTeR 3R MarerR RR 3t 918 w1l €1 Marer R g8 giHfya s o
TETIdl $3d & [

® There is no pressure of deep sea on the submarine /"T{’&' qHYx bl Uﬂw R 'ﬂ"ﬁg old H'a %

® Pressure is increased on the submarine / qld Hﬂgﬁ YR dg SIldl %

® Pressure is decreased on the submarine / Q9 wagﬁi‘rww B“f SITdT %

® Pressure is evenly distributed on the surface of the submarine /tﬁgﬁ $t a8 W S G99 T9 I
foafa gar

Correct Answer :-Pressure is evenly distributed on the surface of the submarine /tF-Igﬁﬁ P! Gdg W
319 99 U ¥ fafvd gtar @

28)
Question Stimulus :-
(4x2-9) X (2x3-3x+1)/ (2x-3) =?
* 4x-3
* 3x-4
® 2x-3
e 1
Correct Answer :-2x-3
29)

Question Stimulus :-

Asha found that two steel tumblers were stuck inside each other .So to separate the two tumblers easily she
warmed them on a gas stove. This she did it because / 3{TRIT T eHTd ¥ e &t Udh E{\Eﬁ' P 3R
BT §3MT UTAT | 3 & Frardl &1 ST | YU 31 & i 391 T T geg W 3¢ T (5ar| S99
o1 gty fovar wife
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® Metals contract on heating & expand on cooling / Tq TH B W '\‘l@‘ﬁlﬁ Eﬁ?ﬁ % 3R 38T ?ﬁ L3
TR gt g

® Metals expand on heating & contract on cooling / YTq T He W ugTRd Bﬁ?ﬁ % 3R FST T:ﬁef LR
dgpfud gidl 31

® Heat transfer is through radiation /ﬁﬁTQ'UT GIRT SHCHT E)IEIGIEG] Eﬁ?‘ﬂ %I
® The temperature of both the tumbler is increased /'q%-ﬁ' e & argHTE § q@ ﬁ'cﬁ %I

Correct Answer :-Metals expand on heating & contract on cooling / HTq T HH W UHTRd gl 8

3R 3371 81 W Wphud gidl 2l

30)
Question Stimulus :-

In Jal tarang ,the sound made by the glass with the highest level of water produce / STe 3T A, o &
SHdH ®R & 1Y a9 gRT 3a @i+ Iud wedl §

® Highest pitch / S=IdH dIRed
* Lowest pitch / FFrHad aR@
® High frequency / 3= Gﬂﬁ'ﬁf

* Low frequency / &1 armgfa

Correct Answer :-Highest pitch / 3=dH dIR«d
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